ECE 321: Quiz#5 Name

AC analysis of BIT amplifiers - December 8, 2016

1) Draw the small-signal model (AC circuit) for the following common-emitter amplifier. Assume
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2) Draw the small-signal model (AC circuit) for the following common-base amplifier. Assume
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3) Determine the 2-port parameters for the following common-emitter amplifier:

Rin Ai Rout Ao
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4) Determine the 2-port model for the following amplifier:

Rin Ai Rout Ao

|5 +9 189S | 9,05 9619

2k %
© NN\~ o
' Ib +
Vin 10k 30k 100 |b 500 Vout
G B o
- Why*l2 . ‘
5\ Gy gt eV

e

i o
A s sl

JUR
N Ve
. , e PE
QQJ if Wg?@f{w ey L { z@ SZ*SMW{
— — ) = I8 .\ %
A 157

@= It =\4.05

p I e
( Ze T W e ©
( = 969



5) Determine the 2-port model for the following CE:CC amplifier:
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Bonus! Electorial College Trivia! Suppose you eliminate the electorial college and elected Presidents
by the popular vote. How many western states would it take to equal the number of people in New York
City (population 8,550,405)? |
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